
!  
www.clutchprep.com 

!

MACROECONOMICS - CLUTCH

CH. 20 - FISCAL POLICY



CONCEPT: INTRODUCTION TO FISCAL POLICY 

 

● Fiscal Policy involves setting the level of _____________________ and _________ by ____________________ 

□ Focus specifically on spending and taxes of ______________ government 

 > Government spending is an important part of __________  

  - More government spending   __________ 

  - Less government spending   __________ 

 > Taxes also influence the level of __________________ available for household’s ________________ 

  - More taxes   ___________________ 

  - Less taxes   ___________________ 

□ Fiscal policy can be discretionary or automatic 

 > Discretionary fiscal policy – government takes action to change spending or tax levels 

  - Examples: Tax decrease passes through Congress; $100B project to expand highway system 

 > Automatic Stabilizer – Spending and taxes that change automatically throughout the business cycle 

 

Taxes during an economic boom 
 

Economy expanding  GDP, Inflation, Income _____  
 

Taxes _______ 
 

 

Unemployment insurance during an economic boom 
 

Economy expanding  GDP, Inflation, Income _____  
 

Government unemployment payments _______ 
 

 

Taxes during an economic recession 
 

Economy contracting  GDP, Inflation, Income _____  
 

Taxes _______ 
 

 

Unemployment insurance during an economic recession 
 

Economy contracting  GDP, Inflation, Income _____  
 

Government unemployment payments _______ 
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CONCEPT: EXPANSIONARY AND CONTRACTIONARY FISCAL POLICY 

 

● The government can change its level of spending or taxes in response to the state of the economy 

□ When the economy is in recession, real GDP is below its potential output 

 > Cyclical unemployment and low investment 

 > Expansionary fiscal policy – Government ______________ spending to stimulate economy 

  - Expansionary = more GDP 

  - The government can also _________ taxes (which _____________ consumption) 

Expansionary Fiscal Policy 

AD-AS Model 

 

 

□ When the economy is experiencing rising inflation, real GDP is above its potential output 

 > Overemployment and increasing price levels 

 > Contractionary fiscal policy – Government ______________ spending to reduce inflation 

  - Contractionary = less GDP 

  - The government can also _________ taxes (which _____________ consumption) 

Contractionary Fiscal Policy 

AD-AS Model 
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CONCEPT: GOVERNMENT PURCHASES AND THE MULTIPLIER EFFECT ON AGGREGATE DEMAND 

● The multiplier effect describes how an initial boost in spending leads to a much higher increase in __________ 

□ When government increases spending, this, in turn, increases ___________ of households 

□ The increase in household ____________, leads to an increase in household _______________ 

 > Refer to our calculations of the Marginal Propensity to Consume 

□ A second round of spending occurs based on the additional consumption, leading to MORE consumption 

□ The chain reaction continues… 

EXAMPLE: Governmentland has increased government spending by $5 billion dollars: 

Increase in Government Spending  $5 billion 

Increase in Consumer Spending = MPC * $5 billion  

Increase in Consumer Spending 
= MPC * (MPC * $5 billion) 
=  

 

Increase in Consumer Spending 
= MPC * (MPC * (MPC * $ 5 billion) 
= 

 

The chain reaction continues…   
 

Aggregate Demand 

 
 

 
 

Multiplier Effect 
 

𝑇𝑜𝑡𝑎𝑙 𝐼𝑛𝑐𝑟𝑒𝑎𝑠𝑒 𝑖𝑛 𝐺𝐷𝑃 =
1

1 − 𝑀𝑃𝐶
∗ 𝐼𝑛𝑖𝑡𝑖𝑎𝑙 𝑆𝑝𝑒𝑛𝑑𝑖𝑛𝑔 𝐵𝑜𝑜𝑠𝑡 
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CONCEPT: TAXES AND THE MULTIPLIER EFFECT ON AGGREGATE DEMAND 

● The multiplier effect describes how an initial boost in spending leads to a much higher increase in __________ 

□ A decrease in taxes is essentially an increase to household _____________ 

□ The increase in household ____________, leads to an increase in household _______________ 

 > A second round of spending occurs based on the additional consumption, leading to MORE consumption 

□ The chain reaction continues… 

□ Note: The tax multiplier tends to be _____________ in magnitude than the purchases multiplier 

 > The tax multiplier is ______________  A decrease in taxes leads to an ____________ in consumption 

 > Some of the extra disposable income goes to ____________ leading to smaller chain reactions 
 

Aggregate Demand 

 
 

 
 
 

Tax Multiplier  
 

𝑇𝑎𝑥 𝑀𝑢𝑙𝑡𝑖𝑝𝑙𝑖𝑒𝑟 =
∆ 𝐸𝑞𝑢𝑖𝑙𝑖𝑏𝑟𝑖𝑢𝑚 𝐺𝐷𝑃

∆ 𝑇𝑎𝑥𝑒𝑠
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● Taxes are said to be an automatic stabilizer in the economy: 

 > Government purchases will stay stable regardless of business cycle without discretionary policy 

 > The amount of taxes depends on the amount of income being earned 

- Economy is booming   GDP, inflation, income _______  Taxes ______  Consumption ______ 

  - Economy in recession   GDP, inflation, income _______  Taxes ______  Consumption ______ 

 

 
 

Automatic Stabilizer 

 

Amount of G 

and T 

Real GDP 
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